. ‘
g:n: ing&l.xtggﬂ Vc“" Assently [E770 -~ Slope 3:1 Max, 4:1 or flatter Desirable —— o ‘.[Edge,of graded shoulder | | N o | ’ . GENERAL NOTES |
” — ' — — . - —_— - ’ ‘ . 1. Yood posts are required with the Beam Eating Steel
G ‘rdru' U exit Groundline strut [E780] o | S — k —_— Terminal (BEST). . :
uQ i x ! _ _ ) v

stot away from
traffic

. % e
[mpact Heud

g I

2'-10 1747 .

2. All bolts, nuts, cable ossermblies, coble anchors, and
beoring plotes shall be galvanized.

3. When the Beam Eating Steel Terminal IS selected as :

the end treotment for MBGF installation, the MBGF will .

be flared ot o rate of 50:1 over the first 50 feet of the S)éstgﬂ.. if needed,

to prevent the BEST Impact head from encroaching, as shown at botfom:left.
P c The flore moy be decreased or eliminated for specific

BLACK ingtallations if directed by the Engineer. A 50:1 flare
roate will be used at b sections where the curb face is aligned with

the face of the guardrail. (See DETAIL ‘A))

— — g L : , N o S \ 4. The steel tubes shcll not_protrude more than 4 inches above
_ . ‘ ' (Rorarq! 90° where approach ground (measured along a 3 foot cord). Sstp grading may. be
- traffic is on right side.) necessary to meet this requirement.

' PSRN : . | Y IRE e _ o : - - 5. The steel tubes may be driven with an appraved driving head.
. End payment for Special Design gl FT_of guardrail | | They shall not e driven with the wocd post in the tube. I1F
- Guardrail Anchorage Without Flare? ,, . the stee!l tubes are placed in drilled holes, the bockfill

6” x 8” Wood CRT Posts (posts 3 throughfn

5 Min.

Cable anchor box [E761] =~ = . oo e L
\_n Deep beam gq&_arkdrcil u\“en'"pb E!lao'i.’ |
R} ‘

TRAFFIC SIDE

N | eam guardrail
 "Straight |

PLAN
\‘.\\

I TRAFll."[C‘

Do not attach rail to post 1 or S. NOSE STRIPING DETAIL : Zgg';::‘l‘;:t?st be satisfactorily compacted to ﬁrevcnt tube
: Black gloss enamel ink scr i : o o o : z
| ) sensitive engineer grt;léesc:e?lg i infed an pressure 6. When rock excavation is encountered, o 12 iach diameter post
, - Stondard : - | Level ‘A (SECTION 91 eriective sheeting, Tp. 1, hole, 20 inches deep,may be used if approved by the Engineer,.
’ 3 35 ' Y line posts - , 3) . : Gronular :o*::eréoll;éll- héplsced %n the bgttg:nor the hotle
} 6'- 37 - 3 . 6~ 3% L ‘- ‘- 37 approximate inches deep to provide inage. -
oo RN 0l S A — R - £ - L S DR NI
Wood post : ' ‘ ' ' '8' Oval shidr. I ’ ' o : ' ength, placed in ole and backfi d wi adequately
n [ ) : i . . h . 3
Elenﬁnia' " | | . button heod , | . | | | o | i compacted mter_lal excavntgd ,&‘rfon the hole : \.
Qg o>crevws i@ﬂ » S/8” Dia. x 1 1/4“ splice ‘ K i . - The breakaway toble assembly must be taut. A locking device:
' - \ - - ' ~ 4 : i . (vice ips or channei lock pliers) should be used to prevent
- A ' ' ; A B bolts |[BS80122] & nuts ‘ , ptional splice - . s ‘Eggiencﬁgrzeed Washers : ) the .!:og'l'e from tw isting when t;ght_ening the nuts.
a . . . g S M’- N b L4 . - . ‘ N . ) ]
I+l ~ tér y 141 . o m 1§ ) +E ; o . 8. The wood blockouts shall be ‘toe noiled’ to the rectongulaor wood
* — ? s - : f . - ' o — t ) ‘ - posts to prevent them from turning when the wood shrinks.
I.. _L . ] | l - i o 1] | | - ' 9. DETAIL'A Installations the soil tubes and posts shall be
s - b ; e . - . — gman ~ - ’ installed at the proper ground elevation behind the curb.
I I 1 b1 I I | . The posts will then require field drilling new holes to
= I 4.1 L HE {1 | - ’ accommodate the roil to post connection bolt to maintain
N |l == i 1 = =1 | the proper height of the rail above the gutter pan. The
i c ‘ | : : = } ; : : : 1 } i excess post length above the rail will be removed if directed
I cble || : I l by the Engineer. .
b Anchor || | Ld e Ld LJ ‘ Ld L v e 9 .
U | N - o
E]' A . L——PB - 3/4” Dia. post hale with
Groundline strut [E780}—

ELEVATION 5/8” Dia. x 18 [BS81802] bolt & H.G.R. nut [NOSO]

1 5787 0.D. washer |W0S50] under nut only

SEE SEPARATE DETAILS FOR REQUIRED NOSE STRIPING.

6”x8” Wood Blockout [P67S
Deep beam guardrail

: QP-

Wood post A l |

Pipe sleeve |E740)

3/4° Dia. hole

1% Hex nut -
t. washer [W100]

. BCT coble . | Nllf & . u“ ) ' | . . . Dk - . » D . | . | .
‘ | gr. bolt [BS81002] with Wood ) ¥ HI Cod [ ‘ -
o . - post =F= T € lary DESCRIPTION , . | ©
B Groundline strut H.G.R.Hex.nut |NOSO| &¢1) \ | o : # - - v Y , -
Ground line |E780' B (Vusherlw-usolunder nutd _ : \s ?n g£1200 |1 (#! Deep Beam Guardrall (26°'-6 1/273¢12 Ga.) » »v3/4~ Dia. hole I,
» — , Slope: 1011 o vy 1202 |1 |42 Deep Beam Guardrail (13'-6 1/27)(12 Ga.}
4 . 7N or flatter—, | E730 | 2 [Steel Tube - 67x 87x 6'-6x 3/16 ~
8’ x B x S/8" '5/87 Dia. x 9 1/2” [B580954] ' % P6350 | 2 |Wood Posts - 5 178 *x 7 172 " 45°
Bearing P [E750] - hd. bolt & H.G.R. nut [N0SQ] /P .  P510 |5 |[6" x B” x 6'- 0" Vood CRT Posts o
' - L ~ ! " 4 P <
g* . W/2 washers|W030 3 172 Dia. ‘o P675 |3 ]6” » 8” % 14” Wood Blockouts
WL ; p . [ . . breakaway : ' E740 |1 |Pipe Sleeve - 2° Std. Pipe x 5 1/2”
| mg— 1 178 D; 1. | 3/8” Dia. » 7 1/2” |B380754 ) . << . holes™ . \O _ l E750 1 BW""‘Q Plote - 8° x 8° x S/8"
2l 77T 4 Hole Q‘ 1P hd. bott & H.G.R. nut[NOSO] : . S T e | E761 |1 |Cable Anchor Box
" ~ | S ., | T | E770 |1 |Cable Assembly
: B x 67 x 3/16" x 6'-6" ' e £E780 | ! |Groundline Strut |
, : Steel tube [E730 - SR o . - £3003 |1 |BEST Impact Head , o ' - vanp ; - 3
| . | ) : | S - Y Y : ————— | . . WOQD BLOCKOUT . “ | 1.
BEARING PLQT'E | | N . | — | HARDWARE . | e /L .
' ' .. SECTION a-A . SECTION B-B ' . BS580754| 2 [S/8°x 7 1/2° Hex Hd. Balt (bottom of tubes) | , | 7/8" Dia. hole-# “ _
PARTIAL VIEW AT POST #1 ' o (ot post Aoy _ (Typ. ot pasts 3 thru 7) B380954| 2 |S5/8%x 9 1/2° Hex Hd. Bolt ¢(Top of tubes) , . B g : —Bottom of
o | - - | ~ ~ Posts 3 thru 7 only ar 4 |M050 |10]5/8” Flaot Washer (2 ea. at Tubes + 6 Posts) | | | R T Post
CRT posts.’ : | - |BSB1002] 1 [S/8“x 10° H.G.R. Post Bolt (Post 2 | o I
| | B381802 3 |5/8°x 18 H.G.R. Post Balt (Posts 3 through 75| | T | , Posts | and 2
B380122| 16 | 3/8”x 1 1/4” H.G.R. Splice Bol% » - ALl nessurenen ts shguld be
e . | - | NOSO |26 |5/8° H.G.R. Nut (Splice-16., Tubes-4, GR-6) | ‘ | . %aken from bottom of posts.
l-;?:.: of 37'¢"at 50:1 Flare rate . ﬁzﬂ NOTE; | S E350 | 2 |3/8“% 3° Log Screw | - -
i, . . . " -
: : } 4 ' Tapered. Installations are to be used only . P N100 | 2 1” 'l'fox Nut ¢Anchor Cable)
- where specified, typically to prevent pro- ¥100 12 | 1”7 Hasher ¢Anchor Cable)
H A ~ n trusion over curb face or to pr‘even'& encroach- - i ' - ' —
, — ﬂ& 7 — ment within the Sﬁ&_L[ne offs%t |sfqnce. 1
DETAIL A S | | - | : - NOTE: | . 1
- o ) o o | | : Special Design. Guardrail Anchorage Without Flare. .| 37 Y |
Taoper 6t curbed locations, o | : 4 ‘ ' | ‘ ‘ as s:'nown, shall be In accordance with'B-E-S-T"Systems, SP ECLAL D ESIGN N |
. : i | - - meeting NCHRP 350 requirements and as approved by 11/ | | e
the FHWA. The Contractor will be responsible for ob- GUAR DRA"_ ANCHORAGE

| , o : : . See separate details for ALTERNATE A. | _ . }WITHOUT FLARE
e s e i L 8 A A A B B A p—— Seweecukoammes o ThouT FLAR

23‘ €6’ - 3” Spa.) -

DETAIL B | NI | | - - -
(Taper at reduced Post Spasings,) . | o L o S IR o i MAY1997]

W : A A H | | " o - “ . faining unfs from a iicensed distributor.

MIN2S® ¢6° - 37 Spa.> - | 7 Varies(see Plans). _J

. — g . P
—_ln
LA . :




